b 105010
000000 Nod4 (DDOOUODDOOO,0000DO00-DO00ODOOODO-)

01*(00000) -0000000,2y00000000 «00O00O0OOOOO A
gbooobboobooabo.oboa,boobboon.

(a) 000000000 200 E,(>)00000000OCO0OO, 2000000
gooo.
(b) z00ODODODODOOOOOOOODO (2)000,00000000D0A0O.

() E=-V®00,>000000000 200 E,(2)000, (000000
ooooooo.

(d) 00000000000000O0O0OO0O,00000000000000
goo.

02 (00000) »0000000,2y00000000 ROODOOOOOO ¢00
00000000000.0000000000000
(a)* 2000000000 200 E,(z)0000000000000.
(b)* 200000000000000 ®(z)0000.

()*E=-Vo00,.000000000 00 E.(2)000, (00000
oooooooo.

(d)*>000000000 200 E,00000000000.000, z000
goboboboboboooooobo,bobobobobobobobon.

()™ R—oo0000,000000000D00O0O0.00UDODOOO 200
E.z)000,0000000000.

03*(00000)00000000000O0 RUOODUOOD.ODDODDOODOD 0O
ooooooooooooooo.ooo (nh,p)0000O0OOODOOOOO.

(a) 20000 (,0,000000000000 ¢(r)000,r0000000000.
(b) E=-VeO0,000 00 E()000D0.

04*(00000)000000 ANODOD 2000 —a<z<aeOOOOOOODOOO
gooo.bobobobob.

() 0000000 (r,¢,2) 000000 EO

A
E. = Tnzor (sina — sin 3)
Ey, =0

A
E, = (cos B — cos )

4megr



gboooooooboobpobooobooo.oog,

r r
cosa = m, cos 3 = m,
. zZ+a . z—a

sma:m, smﬁ:m

goo.
(b DOOODOOOOUOOO,E=-VPU (00000000 COOODODO.
(¢ a—oo000U0O0O,0000000000O0DOUOO.O00UOOOODOO
OFr0000.

O0s5*(0000)00 ROOUDOODOOUOODOU pUOODOUOODOO. OO
O(>RO0O0O0O0O0O0 (r<RUODODODODOODOODUOD EODOOOOOOODODO
gooooo,-r0boobgogoboo.oog, robboboobooboooo.



